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g =9.80665 (m/sec?)

E =E.=23.5x10° (N/m?)

| =BH®/12=4.4367 (M%)

h =10(m)

- HE
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- NRTERR
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=0.31 (sec)
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1) M E T HWEmIC L2 HEE
SCHR[1] D R(7.5)(7.6) & FHV,  #ihi 7] 2 AR (7= 72 UIEME LD 2 E400) L 7= /ERIS 2 EET 5,

- FHRSAE DR

thifE—A> b M =20.771 (MN-m)
(FE i /7 N’ =10.493 (MN))
T T b =5000 mm
A% d =2080 mm
§kf bt p =39x642.4,(5000x2080)=0.002409
Yo 7fREtE n =15
np =0.03614
- X(7.6) &V

k=—np+ /(np)? +2np =0.2351

j=1—k3=0.9216

Yo THRIS RO & 5 B & h s,
H(7.5) LY

kj bd? 0 2351-0. 9216 5000 -2080°

_1M 1 .20.771x10°

. =432 (N/mm?)
pj bd?  0.002409-0. 9216 5000-2080°

2) BEHE W IC X D HE (£D 1)
SCHER[L] O (7.7)(7.8) % V>, il ) % ML L 7R DAE RIS 2 e T 5,

- ARG O

JE i /7 N’ =10.493 (MN)

#ifE—2> h M =20.771 (MN-m)

W i i b  =5000 mm

R d; =2080 mm
d, = 120 mm
y =d,/d;=0.05769

BRI pr =39%642.4,(5000x2080)=0.002409
P2 =pPs
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Yook n =15
np, =0.03614
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vy =d, d;=0.05769

Bk b p1 =39x642.4,(5000x2080) =0.002409
P2 =P:

YU UEEE n =15
np;=np,=0.03614
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ZZT,
f(xX)=x3+Ax*+Bx+C
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